20154 V=78 smI>7—%E=R

[A)—7] [B—7]

188 | NIV ITZREFM 188 F— LR
KIg71)—>2TC LEVF—X
ITCEREFETC 74>
EOEO—2TC Y5

288 | NO—ARR—YTFZARILTT 288 | Maybe
JrILTZ52aTC EOEO—2TC
WiEBa—2TC REOAVILTC
RETILURTC INOUET =R 7 HhT3—

3%y | TCEITVRI— 3ER | /NILRA—T(—
BEERTC TZATAR
RKETC 7>a—)L
2 1C F1)—7

488 | HUEEETC 488 | NIV ITZRAESM
f—%XTC ITCERERFETC
Y RAh—> JrILTS52aTC
ITCARZJIABTC E—X

bER | U=t bEB | WEBTILURTC
g/ =TC NO—RR—YTZAAXIILT
RIA4T4TC K=ETC

AU—5 FH19F— LA BU—% EH19F—LA

[BF]

A1-A3-A5-B1-B2:Bb5 4/13(A) | 4/210k) | 5/15(%)
A2-A4-B3-B4 4/14(:k) | 4/22(k) | 5/11(8)
ABE - FwH 5/19(:k) | 5/21(K) | 5/28(K)




